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PART - A

Directions : Read the following passage carefully and answer the questions that follow
by selecting the correct option from the given options, based solely on the passage. Mark
your answer on the Answer Sheet accordingly.

An attempt to determine the number of languages in the world is affected by other factors.
A few new languages do continue to be discovered, even these days, as unexplored
regions of the world begin to be opened up. The discovery does not usually take place
straight away. Often there are similarities with an already known language which make
the investigators assume that what they have found is just a dialect of that language. Only
after a considerable period of contact does it transpire that the speech is so different that
it has to be considered a different language. It takes a language survey to establish the
facts, and there are still many countries where such surveys are incomplete or have not
even begun. The people may be known, but the identity of their language may not be.
Because many such peoples are bilingual or multilingual, and converse with outsiders in
lingua franca, it may take a while before linguists come to realize that there is an ethnic
language there at all.

1. Which one of the following is NOT the (c) By comparing with the lingua
reason for the difficulty in estimating franca of the region
the number of languages of the world ?

(d) By conducting a survey of all

(a)»New languages continue to be languages of the region

discovered

(b) There are still unexplored regions 3. Which one of the following statements

i 9
(c) New languages are considered a e el

dialect of a known language
(a) Language surveys have been
(d) People who speak the language conducted by all nations
do not claim their language

(b) There is hardly any language to be

2. Which one of the following is a way discovered in the world
to establish the discovery of a new
language ? (c) All the languages are either
(a) By establishing contact over a E;omplete- A e Drdilocs of
period of time with the speakers of gtier‘negorlangagss
the language
(d) No new language needs to be
(b) By finding the similarities of the discovered since all languages are
language with other languages known to the world

AEBC-A-GAT - A 2



4. ‘The people may be known, but the

identity of their language may not be,’

means '

(a) People are recognised as different
ethnic groups but not necessarily
their language

(b) People are recognised as different
ethnic groups and their language is
recognised

(c) People are not recognised as
different ethnic groups, and so are
their languages

(d) Because the people are not from
different ethnic groups and their
language is recognised

5. Which one of the following words

from passage means ‘come to be
known’ ?

(a) transpire
(b) lingua franca
) straight

(d) variant

Directions : The following items have a sentence in direct or indirect speech with four
options. One of the options converts the direct or indirect speech into indirect or direct
correctly. Select the correct option and mark your response on the Answer Sheet.

. Convert from direct speech to indirect
speech :

Charu said to her friend, “I want you to
be here at 6.00 p.m. tomorrow for the
meeting.”

(a) Charu told her friend that she
wanted her to be there at 6.00 p.m.
the next day for the meeting

(b) Charu told her friend that she
wanted her to be there at 6.00 p.m.
tomorrow for the meeting

(c) Charu requested her friend that
she wanted her to be there at 6.00
p.m. tomorrow for the meeting

(d) Charu told her friend that she will
want her to be here at 6.00 p.m.
the next day for the meeting

. Convert from direct speech to indirect

speech :

Nitin said to his brother, “What a

beautiful painting it is ?”

(a) Nitin wondered to his brother that
what a beautiful painting it was

(b) Nitin wondered before his brother
that it was a beautiful painting

(c) Nitin exclaimed that it is a
beautiful painting

(d) Nitin asked his brother whether
it was beautiful painting

8. Convert from indirect speech to direct

speech :

The teacher asked her students why

they had been quiet in the previous

class.

(a) The teacher asked her students,
“Why were they keeping quiet in
the previous class 77

(b) The teacher said to her students,
“Why were you quiet in the
previous class ?”

(c) The teacher said to her students,

“Why had you been quiet in the
previous class ?”

(d) The teacher said to her students,
“Why were you quiet in previous
class 7
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12.

Directions : Following items have four sentences, one of which is correct. Find the
correct option and mark your response in the Answer Sheet.

Which one of the following sentences
is correct ?

(a) He is considered as the brightest
intellectual in the country

(b) He is considered as one among
the brightest intellectual in the
country

(c) He is considered as one among
the brighter intellectual in the
‘country

(d) (‘Iﬁe is considered as one of the
intellectual in the country

10.

Which one of the following sentences
is correct ?

(a) No other mountain is taller than
the Himalayas

(b) No other mountain is tall than the
Himalayas :

(c) No other mountains taller than the
Himalayas

(d) No other mountain is taller then
the Himalayas

Directions : In the following items, a pair of words is provided. You are required to select
the option that most appropriately describes the meaning of both the words and mark your

response on the Answer Sheet accordingly.

Confident and Confidant

(ar) Confident means certain and
. confidant means close friend

(b) Confidant means certain and
confident means close friend

(c) Confident means belief and
confidant means an emissary

(d) Confident means assurance and
confidant means intimate person

Broke and brook

(a) Broke means abundance and
brook means a flowing water
body

AEBC-A-GAT - A

13.

(b) Broke means bankrupt and brook
means a stream

(c) Broke means fractured and brook
| means nonsense

(d) Broke means negotiate and brook
means a stream
Accept and Except

(a) Accept means apart from and
except means recognise

(b) Accept means recognise and
except means include

{c} Accept means consent and except
means apart from

(d) Accept means allude and except
means apart from



14.

16.

174

18.

Accord and Accrued

(a) Accord means collected and
accrued means agreement

(b) Accord means agreement and
accrued means arrived

(c) Accord means accepted and
accrued means received

(d) Accord means agreement and
accrued means accumulated

15. Guarantee and Warranty

(a) Guarantee is an agreement and
warranty is a service contract

(b) ~Guarantee is a business agreement
and warranty is a service contract

(¢) Guarantee is a promise and
,f/ warranty is a service contract

(d) Guarantee is acceptance and
warranty is a service contract

Directions : In the following items a sentence or a phrase is given with a word that is
underlined, followed by four options. Select the most appropriate option that is nearest in
meaning to the underlined word and mark your response on the Answer Sheet accordingly.

The Constitution of India ensures
proportionate representation from all
regions.

(a) balanced —

(b) partial

(c) unlikely

(d) suffragette

There is a feeling of disenchantment
among the members of the group.
(a) delight

(b) disappointment

(c) idealism

(d) unrelenting

She believed that it was imminent that
he would be chosen as the leader of

the group.
(a) timely

(b) distant
(c) unlikely

(d) inevitable

19. The brave soldiers left an indelible
impression on the people of the land.

(a) permanent
(b) fleeting

(c) hilarious
(d) eradicaﬂlz_l_c

20. The manager always provides
instantaneous replies to all queries.

(a) immedift}_
(b) delayed
(c) deliberate

(d) unwanted
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21.

Directions : In this section each item consists of six sentences that comprise a passage.
The first and sixth sentences are given in the beginning as S1 and S6. The sequence of
the middle four sentences has been jumbled up and labelled as P, Q, R and S. You are
required to find the proper sequence of the four sentences and mark your response
accordingly on the answer sheet.

Sl:

S6:

(2)
(b)
(©)
(d)

Although all sources of energy
ultimately come from natural
processes, non-renewable resources
cannot be replaced naturally at the
rate they are being used.

The sustainable use of natural
resources in a manner that provides
the maximum benefit of these
resources to humans over a period
of time can be termed as con-
servation,

: This will increase the time and

cost of mining and once these
resources are used up they cannot
be replaced.

: Hence, we must remember that

though our country is rich in
mineral deposits these resources
are short-lived.

: Extraction of these ores through

the process of mining will soon
become difficult and very
expensive because these minerals
have to be mined from greater
depths over time.

: Mineral resources can be said to be

finite and non-renewable.
QPRS
SPQR
SQRP

SQPR -
Q/

AEBC-A-GAT - A
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22, S1:

S6:

(a)

(®)

(c)

: Kings

India, at present, has one of the
largest road networks in the world.

It passes through Howrah, Delhi
and Amritsar and terminates in
Kabul (Afghanistan).

: The importance of roads has been

recognised in India since the
ancient times.

: The Grand Trunk Road was built

by Sher Shah Suri across the Indo-
Gangetic plain, from Chittagong
(Bangladesh) to Peshawar (Pakistan).

such as Ashoka and
Chandragupta built roads for easy
transportation of goods and people.

: Construction of roads continued as

an important activity in the late
medieval period.

QPRS
@ £37

SPQR

PQRS

/@RSQ



23. 81:

S6:

(a)
(b)
_©
(d)

24. S1:

S6:

: They are important

National highways connect one
state with another and are of
national importance.

These road systems are also known
as primary road systems and are
laid and operated under the
supervision of the National
Highway Authority of India.
because
whereas they constitute merely two
per cent of the total road networks,
they nevertheless carry 40 per cent
of the total road traffic.

: The road infrastructure of the

country is therefore crucial, and
their construction and maintenance
is of critical importance.

: They bear the load of traffic

because these roads connect long
distances and pass through major
cities and towns.

: Since they cover the length and

breadth of the nation and connect
cities and towns, these highways
are the primary facilitators of trade
and connectivity.

PRSQ
SPQR
PRQS
SQRP

The South African Constitution
was inaugurated in December
1996.

A special constitutional court
enforces the rights enshrined in the
Constitution.

: Its creation and promulgation took

place at a time when South Africa
still faced the threat of a civil
war after the dissolution of the
Apartheid Government.

25.

(G 551

The South African Constitution
says that its “Bill of Rights is a
cornerstone of democracy in South
Africa.”

: Apropos, it forbids discrimination

on the grounds of “race, gender,
pregnancy, marital status, ethnic
or social origin, colour, age,
disability, religion, conscience,
belief, culture, language and birth”.

: The Bill of Rights grants perhaps

the most extensive range of rights
to the citizens.

(a) QSRP
(b) SPQR
(c) PQRS
@ PQSR

St

S6:

: Therefore

Our Constitution reminds us of
the necessity of representation in
a large democracy.

Elections have today become the
most visible symbol of the
democratic process.

: This is why elections become

important,

representatives  are
elected by the people.

: Whenever we think of India as a

democracy, our mind invariably
turns to our successful elections.

: All citizens cannot participate in

taking every decision.

(a) QSRP
(b) SPQR

(c)

PQSR

(@ SQPR
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26.

27.

28.

29.

Directions : Given below are sentences that use discourse markers /expressions to make
them complete. Identify the most appropriate discourse marker/expression and mark your

answer accordingly in the Answer Sheet :

your transfer request is
concerned, we’ll be discussing it at the
next meeting.

(a) As far as
(b) To begin with
(c) By the way
(d) Talking abouti

, did you know Ravi has a
new job ?
(a) For one thing
(b) By the way /
(c) In the first place
(d) As a result

the wind, it was getting

stronger, and I was getting colder.
(a) To begin with
(b) By the way
(c) First of all/
(d) Speaking of

, what are you doing in my
room ?

(a) On the other hand
(b) Excuse meg

(c) Look there

(d) Eventually

AEBC-A-GAT - A
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31

32.

33.

an unhappy childhood
leads to criminal behaviour.

(a) Still if

(b) Even somewhat
(c) In some cases /
(d) In progression

, the problem is nothing

but a wrong assumption about

processes.

(a) In the meanwhile
(b) Somewhat

(c) Engagingly

(d) In other words

Many, , hesitate to publicly
broach such question for fear of
nurturing discrimination.
(a) understandably
(b) despite
(c) until
(d) of course

, one notes that in the
nineteenth century an important

development of reflection and
questioning gained momentum.

(a) Particularly speaking
(b) Generally speaking
(c) Otherwise
(d) Of course



36.

37.

38.

, the situation has
completely transformed over the past
few years.

(a) Somewhat
(b) Believably
(c) Thus

(d) Predominantly

35,

, the committee is of the
opinion that all academic matters will
be discussed in the Executive Body
Meeting.

(a) Hencg
(b) But
(c) Later

() Although

Directions : Given below are words, followed by their appropriate meaning. Identify the
correct meaning and mark your answer accordingly in the Answer Sheet.

Cynosure :

(a) Person or thing that causes a
change

(b) Person or thing that attracts a lot
of attention

(c) Person or thing regarded as exact
copy

(d) Person or animal that lives in a
particular place

Coeval :
(a) Person of roughly the same age

(b) Person or organisation that

cooperates with others

(c) Person employed to drive a private
car

(d) Person employed in taking census

Retrogression :

(a) Sudden sharp drop in price

39,

40.

(b) Reverse pressure
(c) Return to earlier state

(d) Sudden occurrence of a past event
e

Imprest :
(a) Surprise attack by people

(b) Money used to manage small
expenses

(c) Sudden occurrence of laughter

(d) Sudden increase in activity

Turgid :

529_ Determined or loyal
(b) Dirty or untidy

(c) Swollen or distended
(d) Excited or upset
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Directions : Each of the following items in this section consists of a sentence, the parts
of which have been jumbled. These parts have been labelled as P, Q, R and S. The parts
are rearranged in four sequences, namely (a), (b), (c) and (d). You are required to select
the most appropriate option that sequences the parts correctly and mark your response on
the Answer Sheet accordingly.

41, Dbarticipate in the function many of the people who had come to
P Q
the auditorium was over-crowded could not find a seat because
R S

(@) PRQS
(b) PQRS
(c) QPSR/
(d) SPRQ

42. lay outside her existing life  she knew that the answer
- P Q_I
somewhere in the back of her mind  to her questions about life
R S

i

(a) RPQS
(b) QSPR«—
(¢) QPSR
(d RQSP

43, Works of literature  inside the pages of all good
P Q
lies the truth about some of  the more challenging questions posed by humanity
R S

(a) PRQS

(b) QPRS-

(c) QPSR

(d) RPSQ

[J 44.\ takes on account of its economic successes ~to address continuing social inequality

for every stride of progress any nation it takes two back if it is unable
R S

(@ PRQS
(b) QPRS
(c) RPSQ
(d RPQS

AEBC-A-GAT - A 10



45 the book-value of a loan or  an intangible asset over a set period of time

AN Q

used to periodically lower amortisation is an accounting technique
Ru S

(8 SRPQ ./

(b) RSPQ

(c) SRQP

(d RPSQ

Directions : The following items have a blank space followed by four options. Select the
most appropriate option to fill in the blank and mark your response on the Answer Sheet

accordingly.
46. There is more than to get (c) sat trial
the job done.
(d) stood trial
(a) one way
/
(b) one ways 49. The manner in which the demolitions
have been carried out
(c) any ways scrutiny by the High Court.
(d) any way (a) was under
(b) under

/" |"47) The class decided to organise

(c) is under

. (3 prenic (d) however under
(b) a picnic/
ol 50. 1 consider the opinions of
(c) picnics all stakeholders before taking a final
decision.

(d) the picnic
(a) will not

48. The accused before the
judge. (b) have
(a) tried (€ will—"
ot
(b) was trial (d) shall

11 A - AEBC-A-GAT



51.

52.

53.

54.

qmT-B

Tl sknifie wify #, st
1850 % amg g off, frafufea # @
H-TT/F-8 W@ IAN /AT &
o g @ ?

(a) e 3R @

(b) w9@ H Hard 3T FAE (Cotton

spinning and weaving)

(c) @ 3K forga
(d) Wi F

BGWTE WEAl  (Seals) & fomfor #,
Frfofaa & & e amaht &1 swm
forar wrar ar ?

(a) o3 IR (Sandstone)

(b) @merag |r (Lapis lazuli)

(c) SR (Jasper)

(d) ¥FEL (Steatite)

WA wRa #, fFeafafea & ¥ e
WETHAYE W WHE-WET  (Oligarchy)
o7 ?

(a) afsw

(b) Hiye

(c) TER

(d) 5T

it ww & ud w Pl
Eﬁﬁ)‘t‘fﬁiﬁ (Sculptures) # & wiv-dT,
g dig feRi a ke wdi & 2
(2) Teh Reret (Empty seat)

(b) merHfET

© I

(d) 9%

AEBC-A-GAT - A
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S5.

56.

57.

fafewr v &, frefofea & @ frar
sftrfeam & siata o & fmr 3 o
it safy o freg wam srgwa o ?
(a) Tgafen wHe, 1773

(b) e T, 1919

(c) Toew ifear uwe, 1784
(d) e e 3fear e, 1935

G e & ar § Frafafes & &

HI-8T FIT T § 7

(a) wra ® &y ar wf = wsar ww
TH % €Y § YW R A ar

(b) W FT WS F Afufaw F
He & stpfea fwam o

(c) 7% giifea frr wmr a1 f5 gm0
o T gy 'l weR & et &
I B

@ ufr @ veen T fEr F

T 91

wfaam (freseat qaem) sifufs 3§

ferares forg Swey fopar ma & 2

(a) TRUfeT @Ea-aEE ey
A & forg w frega woneht

(b) @FT-aET R THEE F g H
Erd 1w & fou o fga
HorTet

(c) WNTE SreqEmeR & fau smanr
fsa &=

(d) AREE TST & T3



51.

52.

53.

PART - B

Which of the following main industry/
industries was/were developed in the
second industrial revolution that took
place after about 1850 ?

(a) Coal and iron

9} Cotton spinning and weaving

(c) Chemical and electrical

(d) Steam engines

Which among the following materials

was used in making the Harappan
seals ?

(a) Sandstone

(b) Lapis lazuli

(c) Jasper

(d) Steatite

Which one among the following

mahajanapadas in ancient India was
an oligarchy ?

(a) Vaji
(b) Kosala
(c) Gandhara

(d) Magadha
/7

. Which one of the following sculptures

found at Sanchi Stupa is NOT directly
inspired by Buddhist ideas ?

(a) Empty seat
(b) Shalbhanjika
(c) Tree
(d) Wheel

13

55. In British India, which one among the
following Acts permitted detention
without trial for up to two years ?

(a) Regulating Act, 1773

(b) Rowlatt Act, 1919

(c) Pitt’s India Act, 1784

(d) Government of India Act, 1935
56. Which one of the following statements

about the Bhoodan Movement is
correct ?

(a) The target was to get one-sixth
of cultivable land in India as
donation

(b) It was approved through a Central
Government Act

(c) It was ensured that the donated
land was free from all litigation

(d) The first donation of land was in
Bihar

57. The Constitution (Seventy-third Amend-
, ment) Act provides for

(a) an elaborate system of estab-
lishing municipal self-government

(b) an elaborate system of estab-
lishing panchayats as units of self-
govem;nent

(c) establishing a Commission for
Linguistic Minorities

(d) the creation of the Jharkhand State

A - AEBC-A-GAT



58.

895

60.

WRade (BHARATPOL) Wiéal &l
o formres g fomm man @ 2

(a) wra frafem smam

(b) il =T =R

(c) wad fadarera

(d) W wfewfa sk fafm 9
TRA 6 HqEG & ar 3 Fefafaa § @
F-|T 9 WEl § ?

(a) TSA W & Wl I dgEHEAT H
Frafam arquifes wfeffie wgfa
F FIER THA @HAUE WA GRI
ferar s 2

(b) TgIfy TR USH G & wew
H ¥ T AW F SyEwely &
Arafrefya fran sam 2

(c) < &9 @ wiw a9 Hit safy g
B & vea faufeq =@t fFar wn
AT B

(d) i @91 & "o W T59 G &
wewl & frafea # wagH @ €

frefafaa # & AF-a1, d=ife & o=

forgrat 3 anfirer Wi & 7

(a) UH-gEL H Tsu-aE FEEar dR
HAT & IR GHIH

(b) FHFaT 3R weR feq
() ifogef wg-sfera
(d) 9XHTY AWHIK

AEBC-A-GAT - A

61. Bedl YTt H, WRa # wEH (Maize)

Tormreh / fopmies wmemmy @ g @1 7

(a) T

(b) ket 3R |
(c) = 3T waferan
@) TH (3fFu)

62. = 1 &1 o=t 1 & gafem i sik
TEE F A G T e w1 oW wR
Gﬁ'(ﬁﬁ'q:

il il
(T9a9Tq (3e97)
FreT)
A. 9=l guadty 1. @9 3R it
FrST gaTash fawm

B. gTad] quasiy 2. TiEl gersi

AT (et
o R e
v 3. @i, ASAR
D. Ed| =i {
aadia qsET 4. QT =T
R wwaT &
a9 faEm
C T4
ARG E 0D
T DRl aRad Srih: Sepkl)
i) TR B Vs b ks
EATE SR 3 S
' R s Ried Xeaaty )



58. BHARATPOL portal has been devel-

59.

oped by
(a)
(b)

The Election Commission of India

The Central Bureau of Investiga-
tion

The Enforcement Directorate

(c)

(d) The Securities and Exchange

Board of India

Which one of the following statements
about the Parliament of India is
correct ?

(a) A majority of members of Rajya
Sabha are elected by a system
of proportional representation
by means of single transferable
vote

(b) The Deputy Chairperson of the

<~ Rajya Sabha is nominated by

60.

the President from among the
members of the Rajya Sabha

The Lok Sabha cannot be
dissolved before the completion
of its five year term

The members of Lok Sabha also
vote in the election of the
members of Rajya Sabha

(©)

(d

Which one among the following does
NOT figure among the Five Principles
of Panchsheel ?

(a) Mutual respect for each other’s
territorial integrity and sovereignty

(b) Equality and mutual benefit
(c) Peaceful coexistence

(d) Nuclear non-pmliﬁr.ation

15

61.

62.

Maize (makka) was introduced into
India in the seventeenth century via

(a) Portugal

(b) Africa and Spain

(c) China and Mongolia

(d) Turkey

Match List I with List II and select the

answer using the code given below the
Lists :

List I List IT
(Five Year Plan) (Objective)
A. Fifth Five 1. Towards
Year Plan Faster and
More Inclusive
B. Seventh Five Growth
Year Plan
2. Garibi Hatao
C. Ninth Five (Removal of
Year Plan Poverty)
: 3. Food, Work
P $L?re;::nFlve and Produc-
tivity
. Growth with
Social Justice
and Equality
Code :
A B & D
@1 4 3 2
b)) 2 3 4 1
(&) =2 4 3 1
(d) 1 3 4 2

A — AEBC-A-GAT



63. e e & way #, Frafafeg §

A H-71/FA-] T wd /8 2

1. vgEdl ATt & oy # e
w1 onfawia sew # dwEEr &
soft yade (Proponent) & &9 #
BT

2. 3 g JomEEre & qeeE &

3. Sht foramd st of ¥ e H
Ercic i

4. SER B R AW R e e
&1 Wieatfea fomar

i o g e @y @) e g
(a) Faet 13K 2 |

(b) Faw 2 3K 3

(c) ¥ 1,3 3R 4

) 1,2,3 3K 4

fafew fw e Sl & Feafafea

# 3 fmowm woad 1611 § e
wrREET ifya fmar ar ?

(a) HaTH
(b) wgferTen
(c) =ed
(d) sTETEIR

AT TSfE Hiqem & e
frafafea  woifes  wemet @

BT ¥ YT I T FEHAGER
aﬁ%ﬁﬁﬁ'ﬂ{:

AEBC-A-GAT - A
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66.

67.

1. &S 9IS 1 TS

2. gnvefes  afufety
3are)

3. wges wwEt (Y9e)

4. fawren w e

i o Ty e @ wEw @) g gf
@ 3,1,2,4

®) 1,324

© 2,1,4,3

(Fge

d 1,23, 4

Frafafea # & fom sfifem &, ®u
& RN, A% wHERal sk YRa ¥
ariiEnt & fou Feear & = @
Jeaqq AEeE wifyg fyo s
Iuay fogar a7

(a) 1773 &1 TgQfeT wae

(b) 1793 &1 1 UFe

(c) 1813 % =T THe

(d) 1858 a1 TaE 3w Efear vae
frafafes # & e 1882 # v woew

gEya fa ar, i ara # wmdm
- ATET H HAT el el A © ?

(a) T Aaiar
(b) e Ffm
(c) @fE from
(@) @ie fafoaw e



63.

fgéhronologicaﬂy arrange the following

Which of the following statements
about Srimanta Shankardeva is/are
correct 7

1. In the late (fifteenth century
Shankardeva emerged as one of
the leading proponents of
Vaishnavism in Assam

2. He was the founder of Gaudiya
Vaishnavism

3. His teachings' are known as
Bhagavati Dharma

4. He encouraged the establishment
of satra and naam ghar

Select the answer using the code given
below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1,3 and 4 only
(d) 1,2, 3 and 4

. At which one among the following

places did the British East India
Company found its factory in the year
1611 ?

(a) Madras
(b) Masulipatalp/
(c) Bombay

(d) Balasore

political events related to Indian
National Movement beginning from
the earliest :

1. Formation of Swaraj Party
2. Communal Award

3. Lucknow Pact

4. Simla Conference

Select the answer using the code given
below :

(@ 3,1,2,4
s i

) 1,3,2,4

66.

© 21,43

@ 1,23, 4

Which among the following Acts
provided for the -establishment of a
Supreme Court of Justice at Calcutta

for Europeans, their employées and the
citizens of India ?

(a) The Regulating Act of 1333/-
(b) The Charter Act of 1793
(c) The Charter Act of 1813

(d) Government of India Act of 1858

Y,
. 67: Who, among the following, has

17

introduced a resolution in 1882 which
is also called the Magna Carta of
Local Self-Government in India ?

iy
(a) Lord Macaulay {r "}i;
(b) Lord Canning -
(c) Lord Ripon /

(d) Lord William Bentinck

A — AEBC-A-GAT



68.

69.

70.

Frafafes # & F-m v, ghar
Hymddag e ?

(a) wforar
(b) T
(c) H&FeH
@ #e

frrafafaa fadamsit w fmr Hifm .
1. anfeat it geafy
2. AT FHar

3. amfe &Rt B www ¥ owhy
ECIE LA

e # & F-dt fadvar /fagrwan
I e B B e
R/%?

(a) ¥t 13K 2

(b) ¥ 23K 3

() 1,23K 3

(d) aet 3

wRfsE & wed @ gy, freafifea
Wi @ oSE e # wEfer

Hif, fra w7 § sER adwife
AR AAHSR F i e $

1. qUHT (USA)
2. sfeiet
3. SE

4. 94

AEBC-A-GAT - A
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A g g Fe @ W W s g
@@ 1,2 3,4
(b) 2,3,4,1
) 1,3,4,2
@d 3,4,1,2

71. Frafafea # @ 9%-m 597 9@ =&

A

(a) WA & v QN sfEe A -
st o wifeqy a1 dRfem wEw §

(b) g7 & et H Sefanh
(eEgrwifa®) sk wrewedt
(eTegifinfors) g1 v ot &

(c)ﬂﬁtmﬂ‘mgﬂ?ﬁfwﬂ
sorster (fesfe) siftre wwmaard
g

(d) fordrer 3 sopeit an smafe-fa da
0 it SR B R, wafn ga R
e & AR g @

72. fFeafefiaa % @ F-w s wdr @ 7

(a) g TS TG R T WeH &
WA @ aqar ¢ | zaf ag
IR () e @

(b) TH T F FHA, TH WA
F FHAF FOFET 1/2000 O
B @

(c) FETeE & U GHEAF F TGN
YT (Goiter) & I9ER ¥ fF
T ©

(d) 3. 3. gme I wefe R fe
T & A A dee g
B €



68. Which one of the following terms is
associated with the practice of Sufism ?

(a) Jizya
(®) Zjma
(c) Mugaddam

(d) Murid

69. Consider the following features :
1. Consent of the governed
2. Political equality

3. Accountability of the ruled to the
ruler

Which of the above feature/features
outline democratic rule ?

(2) 1 and 2 only
(b) 2 and 3 only
(¢) 1,2and 3

(d) 3 only

70. Placing the earliest first, arrange the

following countries in the chrono-
logical order in which they granted
universal adult franchise :

1. USA

2. Sri Lanka

3. Japan

4, India

19

Select the answer using the code given
below :

(@ 1,2,3,4
®) 2,3,41
_(_c)_ 1,3, 4,2

(d 3,4, 1,2

@Vnich one of the following statements
is NOT correct ?

¢ molecules of soap are sodium
potassium salts of long chain

%;lty acids

(b) The molecules of soap contain
both hydrophobic and hydrophilic
ends

Detergents are more effective than
soaps in hard water

(c)

In micelles the ionic-end of the
molecules is towards oil droplet
while the other end faces outside

(@

72. Which one of the following statements
is correct ?

) A neutron is formed by combi-
nation of an electron and a proton.
Therefore, it is neutral

The mass of an electron is about
1/2000 times that of a proton

(®)

An isotope of cobalt is used in the
treatment of goiter

(©)

(d) J.J. Thomson proposed that the

nucleus of an atom contains only
neutrons

A — AEBC-A-GAT
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73,

74.

75:

76.

3. s ¥ v & e
frafofes & @ e o 6 @ 6
of 7

(a) FFEHA

(b) Wrer

() Wifrgia
(d) =gi=

WHS & g v weq @

frafafes & & S-wr fsed wd

fereperan @ 2

() THIY # UH A () Fg
e & i Tiftre = &

(b) TEAI] H AT EW g
afoe # gar &

(c) FoFgia wfheh & wR 3R gamER
99 O YA &

(d) TfF F AER WHY] F R

© H ge § sl Brer o &

T X T Frrgs & 8, fome @
XCl, 8, S 9=4 @i 91 U B
2 | waffle dwaa: X smad amoft &
et we # ern Rt Pt 2
(a) Na

(b) Al

(c) Mg

(d K

Trafafea siFamet 4 ¥ sh-w1

| G (Rgge) siteTse @ 2

(a) CO

(b) CO,
(c) Na,O
(d) MgO

AEBC-A-GAT - A
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77

78.

79.

frafafea 3 & R, S s A B
U o (315 amew) & w9 § Y S
Sran ® 7
(a) SiO,
() CO,
(c) CaO

(d) MgO

frafafias & & - so7 wd

27

(a) et fomam & ergom smam &
|Gl S AN a9 S F pH
whel Rl ST §

(b) foelt fooam & wrmgom smam &
Higar Tt 9= €nft, ses pH
I B 9= BT '

(¢) ¥ pH® amra: el pH e
R 0¥ 14T A9 FFT ©

(d) pH¥ ‘p’ & I3 7 w7 ‘oA
(Potenz)’ & ®, fran o wftp
(power) &

Frafafea # & aa-a1 s o
27
(a) STP W =g 9 & amen |y

(mole) & #19 112 #1ex gram ®

STP R 17 3™ sMiffar @ &
6-022 x 102 3] B €

STP W 22-4 &R CO, % ¥ 4477
] B §

(d) 49 TrEdew W # 6022 x 102
A B §

(b)

(c)



73

74.

75.

. Which one of the following particles in
the nucleus of an atom was discovered
by J. Chadwick ?

(a) Electron
(b) Proton
(c) Positron
(d) Neutron
47
Which one of the following findings is

NOT observed in Rutherford’s Nuclear
Model of Atom ?

(a) There is a neutral centre in an
atom called nucleus

(b) Nearly all the mass of an atom
resides in the nucleus

(c) The electrons revolve around the
nucleus in a circular path

(d) The size of a nucleus is very small
as compared to the size of atom

Element X forms a chloride with the
formula XCl,, which is a solid with
high melting point. X would most
likely be in the same group of periodic
table as

(a) Na
(b) Al

_Ae)-Mg

76

d K
. Which one of the following oxides is a
neutral oxide ?
(a) CO
(&(0)
_®) o,
(c) Na,O
(d) MgO

77. Which one of the following is also

known as Dry ice in its solid form ?
(a) Si0,

@&L

(c) CaO

(d) MgO

78. Which one of the following statements

is NOT correct ?

(a) A scale measuring hydrogen ion
concentration in a solution is
called pH scale

(b) The higher the hydrogen ion
concentration in a solution, higher
is its pH

(c) We can measure pH generally
from 0 to 14 on a pH scale

(d)- The ‘p’ in pH stands for ‘potenz’
in German meaning power

79. Which one of the following statements

is NOT correct ?

(a) Half mole of nitrogen gas is
measured 11-2 litre at STP

(b) 17 gram of ammonia gas contains
6:022 x 10 molecules at STP

(c) 22-4 litre of CO, gas at STP
contains 44 gram of molecules

(d) 4 gram of hydrogen gas contains

/'6-022 x 10%* molecules

A — AEBC-A-GAT



80. foreft difies & an &, Frafafeg ¥ 3 (@) N,O

S| U wE e E 2 (b) NO,
(a) TR 3 a1 Y A aftr at ¥ = () N0,

v &, s o Ffeva s # (d) NyO;

T €9 & o e § 83. srfiaRwr ok swaA sifufRans &
(b) Toelt dfirs & o1 36 wewh Tt Hoy # frafafes 3 @ SF-a1 a9

& fir 2 & iR 7

(c) dfires U 313z werd &

(a) afg foreft werd & sifiifier 3 dkm
TrEgr @ fiswma e 8, @t @

(d) foelt s & wewi A Faw o=t e st @
wEEf  a faa -t (b) afe fereft werd # sifirfirn 3 <k

afafst grr & wow fr o

ETI S

81. I 1 # A 1 & gaferm $ifimg sk

siioe &1 s g 2, 9@
¢ F9Ea B W 2

() afe foreft ward # sifirfipan 3 Sk
TEgeE & wife et R, A =e

TEE & R T e W o ww G i &

b (@) af freht et 3 s 3
Tt 1 Tt I s 6 we ot 8, @ 7@
(mmﬁa;. (et STt &1 ST @

i ) 84, Tt 1 9 112 gl B sk

A arfim &=t 1. caoCl, Tt F A Re R w1 W

B.af&7 @s1 2. NaHCO, IR FfHT

C. =R TR 3. Na,COy10H,0 o 1 T I

(stfw (SI gf¥e)

D. ey 4. CaS0,2H,0 a7

T A. aT9HH 1. Ffeaq

AR e i B. R 2. fereitam

Gy s 22 1 3 C. g=aHTq 3. 9TEehd

7 S SRS S S R el
i S e R @) - 1w
: (SR S Sl
SZM%Hﬁa%HWT@WW (¢ 1 4 2 3
&1 fga@ 7 (dimerize) 81 wamar £ 7 @y. 35 st

AEBC-A-GAT - A
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80. Which one of the following statements

81.

about a compound is NOT correct ?

(a) A compound is a substance com-
posed of two or more elements,
chemically combined in a fixed

proportion

(b) Properties of a compound are
different from its constituent
elements

A compound is an impure sub-
stance

(©

(d) The constituents of a compound
" can be separated only by chemical
or electrochemical reactions

Match List I with List II and select the
answer using the code given below the
Lists :

List I List II
(Chemical (Chemical
Name) Formula)
A. Washing soda 1. CaOCl,
B. Baking so NaHCO,
C. Bleaching 3. Na,CO;:10H,0
powder

. CaS0O42H,0
D. Gypsum

Code :
7. -
Pl i R
TR e e
3 1 2050
)g/ M

Which one of the following nitrogen
oxides may dimerize ?

23

84.

(@) N0
(b) NO,
(c) NyO;
(d) N0

. Which one of the following statements

regarding oxidation and reduction
reactions is NOT correct ?

(a) If a substance loses hydrogen
during reaction, it is reduced

(b) If a substance loses oxygen during
reaction, it is reduced

(c) If a substance gains hydrogen
during reaction, it is reduced

(d) If a substance gains oxygen during
reaction, it is oxidized

Match List I with List IT and select the
answer using the code given below the
Lists :

List I List I
(Physical (SI Unit)
Quantity)
A. Temperature 1. Kelvin
B. Wei 2. Kilogram
C. Mas . Pascal
D. Press . Newton
Code :
A B '€ D

3 R R

s e R AR SR |
R s T

@ 3 -2 A

A — AEBC-A-GAT



85.

86.

87.

T -9t aiﬁ'ﬂ,'ﬂﬂf STl Rl pH%ﬂﬁ
4 BT AR ?

(@ 70

(b) 66

(c) 56

(d) 80

frafafes MR (Longitude) 3k
HEW  (Latitude) ¥@msit w feEx
Hiforg

1. 9@ AR (Prime Meridian)
2. & X@T (Tropic of Cancer)

3 ﬁ'gﬂ?[ﬁﬂ (Equator)
I A ¥ - Y@ /an geq
31 (Great Circle) € /€ 7
(a) 1,23K 3
(b) e 13Kk 2
(c) ¥aw 13K 3
(d) ¥« 3

9 g M aft @ g-add & g
femmar & wed #, v sd
Frafafaa # & #lq-a 2 7

1. TrhrETATSE

2. AVF (wTET)

3. 9T

¥ fo 1 e A aw I 9f
@@ 2,3,1

() 1,2,3

© 21,3

@ 1,3,2

AEBC-A-GAT - A

89.

90.

i ImEm  whEr (Mechanical

weathering process) # fimfofga # &

HA-TT/HH-F AT 7 /8 7
1. &R S (Gravitational Force)
2. W& & (Expansion Force)

3. 5 @ &% HRU e (Force due to
water pressure)

A fw g 1w R S g fo

(a) e 1

(b) Fae 13K 2

(c) ¥ae 23K 3

(d) 1,23K 3

frafafaa § @ SW-+ sfie Termy
URT /4RI R /% ?
1. eTEhT 8RT (Alaska Current)
2. 990 Jewifed  AYETE  (North
Atlantic Drift)
3. ufewft W 9ETe (West Wind
Drift)
(a) &= 1
(b) 13K 2
(c) 23K 3
(d) &+ 3

S e #§ W IEEE (Summer
Solstice) % wwg ffofas & ¥ fam
sy W gF f ot @ @ g
g ?

(2) mehfes gw

() fagaq g

(c) & @r

(d) We T@r



87.

For acid rain, the pH of rain water
should be less than

(@ 7:0 L Ao
(b) 66
(c) 56
(d) 80

. Consider the following lines of Longi-

tude and Latitude :
1. Prime Meridian
2. Tropic of Cancer
3. Equator

Which of the above lines is/are a Great
Circle ?

(a) 1,2 and 3
(b) 1 and 2 only
(c) 1 and 3 only
‘______,_.-"
(d) 3 only
Which of the following is the correct
ascending order of the given minerals

in terms of their presence in the Earth’s
crust ?

1. Amphibolite
2. Mica
3. Pyroxene

Select the answer using the code given
below :

(@) 2, 3,1/'
() 1,2,3
© 21,3
@ 1,3,2

25

88.

89.

90.

Which of the following is/are
the. applied forces in mechanical
weathering process ?

1. Gravitational force
2. Expansion force
3. Force due to water pressure

Select the answer using the code given
below :

(a) 1 only
(b) 1 and 2 only
(c) 2 and 3 only
(d 1,2and 3~
Which of the following is/are cold
ocean current/currents ?
1. Alaska Current
2. North Atlantic Drift
3. West Wind Drift

Select the answer using the code given
below :

(d) 3 only

Which one of the following latitudes
will experience a minimum angle of
the Sun’s rays when it is Summer
Solstice in the Northern Hemisphere ?

(a) Arctic Circle
(b) Equator
(c) Tropic of Cancer

(d) Tropic of Capricorn

A — AEBC-A-GAT



91. FRATfR 79 (Coriolis force) F waH

# foafofes # ¥ ew-w/am-2
T wel /% 7

1. e s« g@ e @@ &
weaq s @war §

2. fogae 9w w, @ifrifm EERI
ear 3R vE wHee Wt ¥
deaq Wl ¢

= fw MU Fe w1 wER W I g

(a) Fae 1

(b) F& 2

(¢) 13K 23T

(d AN L,T82

92. wfew M (Sleet) ¥ wadf #, freferfign

# A w1 /-8 Fa qE R/ 7

1. ofem afe soft of auf f F
#R et g aF F 9t fir el
g E

2. 98 7@ et @ v fews fog &
qRX F A A ag i s
o, SHH 6 gae & e ue
wa R firet @

= fiw 1o g & wER o IR g
(a) &ae 1

(b) ¥ 2

() 13Kk 23t

(d FF 1,782

AEBC-A-GAT - A
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93.

94.

95,

18 T s frfafaa
# 3 for e 3 et Ol & 2

(a) T o snfirenr

(b) sregferan = o= e

(c) aféqur s

(d) =P sfdaT

i ure w ged F firer wgghii
forforfim # & forr o 3 e & 2
(a) Y Wy

(b) sifeam

(c) dear

(d) wfirerrg

‘YT (Sholas)’ & &9 % w4 2f¥ wra
¥ sfiarorsfeatd a7 fafafaa 3§ @
o werfedt ® umg o € 2

1. SrATHeTE

2. Hrafir

3. 9ret (Palani)

A1 fag g e 1w aR s g
(a) ¥aa 1

(b) Faer 13K 2

(c) ¥as 23K 3

(d) 1,2aﬂz3_



91.

92.

Which of the following statements
with reference to Coriolis force is/are
correct ?

1. Coriolis force acts perpendicular
to the pressure gradient force

2. At the equator, the Coriolis force
is zero and the wind blows

perpendicular to the isobars

Select the answer using the code given
below :

(a) 1 only
(b) 2 only

(c) Both 1 a.ndy

(d) Neither 1 nor 2

Which of the following statements
with reference to Sleet is/are correct ?

1. Sleet is frozen raindrops and
refrozen melted snow-water

2. It occurs when a layer of air with
the temperature below freezing
point overlies a warm layer near

the ground surface

Select the answer using the code given
below :

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

27

93.

94.

9s.

Humid Subtropical Climate is NOT
experienced in which one among the
following regions ?

(a) Coastal South Africa

(b) East coast of Australia

(c) South Japan

(d) South Argentina

Mahendragiri, the highest peak of the
Eastern Ghats, is located in which one
of the following states ?
(a) Andhra Pradesh _

=5
(b) Odisha

(c) Telangana

(d) Tamil Nadu

Temperate forests of South India,
known as ‘Sholas’ are found in which
of the following hills ?

1. Anaimalai

2. Nilgiris

3. Palani

Select the answer using the code given
below :

(a) 1 only

(b) 1 and 2 only
(c) 2 and 3 only
(d) 1,2 and 3

A — AEBC-A-GAT



96.

97.

98.

99.

@H A, WG @R aiNE
fdiié 2023-24 & srqaEr, Frafafes #
¥ FA-8 T WA AN F wHE
IS § ?

(a) TSTEAM R IR

(b) TTEAT AR HEA WM

(c) FREE 3R Toed™

(d) wREE 3K Ay weu

frafafae & & #9-m, o RBa
T WG e & TE © 7

(a) ¥i@FA¥E (Ankaleshwar)

(b) SHIET (Kosamba)

(c) WREN (Mehsana)

(d) 19T (Moran)

- sfherat & aer, ot
w Hv-awg =md-gf  (Culturable
Waste-Land) & &9 # Fufigt ferar wrmar
?, afy =& fraw auf & aftms & fog
et (reee) T T § ?

(a) 299

(b) 399

(c) 4ad

(d) sad

Frafafes & & &, osfl @ wen
frem arfrfSrs waer (NFSM-cC) #
e gt fomar mr & 2

(a) =9
(b) HTHY
(c) &
(d) =T

AEBC-A-GAT - A
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100.

101.

102.

U% @ G494 & gey # fafafew
TRl X e $ifsg .

I 20 & & WA ¥ 1964 ¥ wfua
fepom mar =

Il ¥E TSET 87 § @e 30 e
AT B

. 5@ &Rk we-faga & smyfd
TR |t fem grr i St @

IUATh 9T & IATER W I 99T H
fafea Hifer -

(a) foené zeqma wa=

(b) SR T FAT

(c) T T FIA

(d) TR Fea w9

g # frafafas v ooet & F
fFa ® & e 0 = F fou aifear
# us guadm  (swaR)  efifRe
Tl e T 2 2

(a) SHTEeT gTA

(b) =ifa ge

(c) HTIE oo

(d) 79 HIR TEA

wra @ ferfs R 2021 & sHER,
frafafea & & fom femerht wsa &
W Wifas 89 @ waifys wfiea
FAR?

(a) SEUITE Wou

) fewmer wew

(c) fafess

(d) ITUEs



96.

97.

98.

99.

As per the Annual Report 2023-24 of
the Ministry of Mines, Government of
India, which of the following states are
the major producer of Copper in the
country ?

(a) Rajasthan and Gujarat

(b) Rajasthan and Madhya Pradesh
(c) Jharkhand and Rajasthan

(d) Jharkhand and Madhya Pradesh
Which one among the following is

NOT a major oil field located in
Gujarat ?

(a) Ankaleshwar

(b) Kosamba

(¢) Mehsana

(d) Moran

As per the Land Revenue Records,
any land is categorized as Culturable

Waste-Land if it is left fallow (unculti-
vated) for more than

(a) 2 years
(b) 3 years
(c) 4 years
(d) 5 years
Which one among the following is
NOT included in the National Food

Security Mission Commercial Crops
(NFSM-CC) ?

(a) Cotton
(b) Coffee
(c) Jute

(d) Sugar cane

29

100.

101.

102.

Consider the following statements with
regard to a steel plant :

I It was setup in 1964 with Russian
collaboration

II. It receives iron ore from the
Rourkela region

M. Water and Hydel power is
supplied by the Damodar Valley
Corporation

Identify the Steel Plant on the basis of
the above facts :

(a) Bhilai Steel Plant

(b) Bokaro Steel Plant

(c) Rourkela Steel Plant

(d) Durgapur Steel Plant

An offshore terminal at Vadinar has
been developed to reduce pressure

from which of the following major
ports in India ?

(a) Kandla Port

(b) Cochin Port

(c) Mormugao Port

(d) New Mangalore Port

As per the India State of Forest Report
2021, which one of the following
Himalayan states has the highest per-

centage of its geographical area under
forest ?

(a) Arunachal Pradesh
(b) Himachal Pradesh
(c) Sikkim

(d) Uttarakhand

A — AEBC-A-GAT



103, foreft T GRT I TH-GT (L-Wave)
71 & o & wed #, Feafafea § &
F-FT /@A-8 FI qE e/ ?

1. 3 gzt it il & SR (follow)
A €

2.9 wHEY Us g (fBr) ® &
T o §

= fou T e w1 A R IW g
(a) ¥ 1
(b) A 2
(¢) 13K 23t
(d Fd 1,782
104, /& SA@HEE T@ 8 IHI GRI F6aR

Faare) 9d & &9 # fEfa g s g,
e frafafaa A a s amar & 7

(a) ST
(b) waTeTHE! e (SAfe)
(c) &

(d) <6

105. 5@ & W & ¥ ¥ HEEA
frefafaa # & fFa ox /f wrat
TRI WHIfad Brar @ ?

1. 919 1 AT
2. HATgar

3. d19HE

AEBC-A-GAT - A

9 feu o Fe W W@ @R I g
(a) ¥ 1
(b) HEer 137K 2
(c) ¥ 23K 3
d 1,28K 3

106. 3R @™ & R wieafEt 6
Fifiemst # dfva €9 aen dfFes

W, wieafEr # UsA (cramps) W
FHRY AT ¢, I€ fored S e # 2

(a) Tt (ATP)
(b) UTEEAE
(c) uAaTA
(d) IS
107. Uerzs it uh Faen, fed Tersg st

¥ ) aefelt et Yl et B
%, Fr wetem = & frefia et 2 2

(a) wrafie wx=AT
(b) ficlraes s
(c) Felradh dTa
(d) T T

108. Hferm feraan sgmeror ® 2
(a) reETg AfEew
(b) sird Afeew
(c) saash afew
(d) T Faw



103. Which of the following statements

104.

105.

with reference to L-Wave or Long
Wave generated by an earthquake
is/are correct ?

1. They follow the Earth’s circum-
ference

2. They travel at more or less at a
constant rate

Select the answer using the code given
below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
y/

(d) Neither 1 nor 2

Which one of the following is formed
when volcanic ash is carried by
running water and is deposited as a
sedimentary layer ?

(a) Basal b

(b) Lapilh

(c) Slate

(d) Tuff

Condensation of water vapour into
water is influenced by which of the
following factor/factors ?

1. Volume of air

2. Humidity

3. Temperature

31

106.

107.

108.

Select the answer using the code given
below :

(a) 1 only
(b) 1 and 2 only

© 2ami303%/n

@ 1,2and3 .

The lactic acid that gets accumulated
in the muscle cells during rigorous
exercise causing muscle cramps is
produced from

(d) Glucose

A chain of peptide containing linear
sequences of amino acid linked by
peptide bonds best represent the

(a) Primary structure
(b) Secondary structure
(c) Tertiary structure

(d) Quaternary structure

Cambium is an example of
(a) Lateral meristem

(b) Apical meristem

(c) Intercalary meristem

(d) Permanent tissue

A — AEBC-A-GAT



109. F1 B ® W@ @ 3K I IR W

110.

111.

112.

el i S T a9 STek W@ Srar

272

(a) Wom # foemm =@ sk
HrRT B AT §

(b) "o # faemm @w @Rk A
Foafia e I €

(c) Wio # formmm =@ ok ¥ =6 A
Ar=BTfed B W §

(d) = sifufrar & et @

U W AU (DNA) v & 9@
W AT el SR A @ g 7
(a) wEhm, arsfim & @ s @
(b) wefm, warfm & e S e @

(c) wefm, arseRim & w9 S[&1 gan
?

(d) arsfim, safm & ama 1 e @

T & IR @ (clotting of blood) #,
frafafes & @ #=-a1 g@m a9
AT WEA e orar 2

(a) T (Farer)

(b) wTEferIS

(c) Fed weTy (Hshith)

(d) wereTy (YreTseH)

wfesitfas (Uamaifes) ffafoam &t
wRft @ foFe & ot 2

(a) wiferE s

(b) #ifw fafess

(c) =T srfde

(d) e T

AEBC-A-GAT - A

32

113.

114.

115.

116.

wAfaT Tl & T-aTe ®

(a) R VFIHEIT A

(b) R FIAFH R

(c) &1 Qiwheitr woak

(d) G FTAF H=K
frafafes # & aF-a1/d9-8 gm
w1 gafem /€ 2

1. melf@n . wrsaﬁéaa‘?ﬂm

2. &l (TB) : womifeaw
¥ fu T g2 @ AR W I g
(a) e 1

(b) et 2

() 13K 234t

(d) T, AE2

faerfim B1 = fomr w7 & oft st stran
2

(a) TrEETFATE

(b) =TETHR

(c) MeAta

(d) St

TS gR, A gR, TEg gR, "W §R,

IS TR 3R W R e = w® s
war 7 fem € 2

(a) 7% feeelt
(b) SRTUTEH
(c) sRamag
(d) TR



109. What happens when the fat and oil

110.

111.

112.

containing food materials are left
outside for a long time ?

(a) Fats and oils in the food get
oxidi'zed/'

(b) Fats and oils in the food get
reduced

(c) Fats and oils in the food get
ice-covered

(d) No reaction takes place

Which is the correct base pairing found
in a normal DNA molecule ?

(a) Adenine pairs with Thymine

(b) Adenine pairs with Guanine

(c) Adenine pairs with Cytosine

(d) Thymine pairs with Guanine
Clotting of blood involves which one
among the following clotting proteins ?
(a) Pathogen -

(b) Fibrinoge

(c) Macrophage

(d) Phagocytes

Initial discovery of antibiotic penicillin
was done by

(a) Francis Crick

(b) Maurice Wilkins

(c) Charles Darwin

(d) Alexander Fleming

33

113. The vector of malaria parasites is

(a) Male Anopheles mosquito

(b) Male Culex mosquito

(c) Female Anopheles mosquito
/

(d) Female Culex mosquito

114. Which of the following pairs is/are

correctly matched ?
1. Malaria Mycobacterium
2,18 Plasmodium

Select the answer using the code given
below :

(@ 1 oan

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A15. Vitamin Bl is also known as
1S,

(a) Riboﬂavin‘/},-
(b) Thiamin

(c) Retingl””

(d) Tocopherol

. Gaja Dwar, Ashwa Dwar, Garuda

Dwar, Makar Dwar, Shardula Dwar
and Hamsa Dwar are located in a
building at

(a) New Delhi
(b) Varanasi

(c) Aurangabad

—(d) Thanjevur

A — AEBC-A-GAT



117,

118.

119.

i R T O o P
(UNESCO) & wraar &t snd st
e i wfafify gt # wfer fen
27

(a) wuee!

(b) T

(c) wTTE

(d) sfest

form wamem 3 et 9w (1KS)
# waffa us flw wea “arr” &
wiH fFm & 2

(a) Tarem w=verg

(b) Te #AEE

(c) F=T UF WERY HATEH

(d) wEHfa wTer

W& (PRASHAD) asmr  (dftefamm
FAEE AR e gl wadA
sfim) & simfa fres foo wemar
WaH it el ® ?

(a) 3-9I91 (e-Visa) gfaem

(b) sewTdt wies TR (Infoline)

(c) T 3R €9 TSy & § wden
HAETHATHA  (tourism  infrastruc-
ture) & T

(d) @ 9T U A R qGrET A

120. 97 # il faga g @

fafm =7 & fm  ‘afeh
(ASHVINI)' «m7s &geh 9ot & @i
wfefoa & 2

AEBC-A-GAT - A
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121. U9 (REJUPAVE)

(a) TAEHATEUS (NPCIL) 3R
AT (NTPC)

(b) Aot (TMC) 3t réedeht
(VECC)

(c) THSsET (HWB) 3R dffusma

(BARC)

(d) ATESHTHISAR (IGACR) 3R
T (NTPC)

F SR H

Frafafes @t # & S-wr wsr & 2

() %ﬁﬁmgﬁaﬁm%ﬁ%m
@l Ud FHW G5 (FAO) 3R wRa
HEHR & WET 6Yh 9a9 &

(b) 78 FERE  (DRDO) @RI
fowfim  waffs e Frreft
(afderma) famm = am 2

() de wfeen wd ar fomma Homerm,
HRA @R o g Wi wga
(wHTfarg) i 2

(d) 7' @t & ¥ fasfig & o
seafteh T (high altitude) W
wea frmfr 6t aadr 2

122. ‘®t-afe (C-Bot)’ & o # Frafafa &

 F-61 /-8 Fa7 w2 /8 2
1. 98 wara fafemt (coral reefs) =
HiHTeR A o forg ot & S wem
Tl ATET €
2. HWEATEIR  (CSIR) 3R
TAATESA (NIO) gr1 forerfira o
LoI8
A R T e 1w 9 I 9 f
(a) Fae 1
(b) Fa 2
(c) 13k 23t
(d) 7ar 1,98 2



117. Which dance form of India has been

118.

119.

120.

inscribed into UNESCO’s Represen-
tative List of Intangible Cultural
Heritage of Humanity ?

(a) Kathakali

(b)~Garba

(c) Bhangra

(d) Odissi

Which Ministry has initiated the
“Dhara”, a special initiative dedicated
to Indian Knowledge System (IKS) ?
(a)
(b)
()

The Ministry of Educatiop/
The Ministry of Home Affairs

The Ministry of Information &
Broadcasting

(d) The Ministry of Culture

The scheme PRASHAD (Pilgrimage
Rejuvenation & Spiritual Heritage
Augmentation Drive) provides assist-
ance for

(a)
(®)
©

e-Visa Facility
Multilingual Tourist Infoline

The development of tourism
infrastructures in States & Union
Territories

(d) Promoting Dekho Apna Desh

scheme

The Joint Venture named ‘ASHVINI’
to develop nuclear power facility in
India is between

35

121.

122.

(2) NPCIL and NTPC
(b) TMC and VECC
(c) HWB and BARC
(d) IGACR and NTPC

Which one of the following statements
about ‘REJUPAVE’ is correct ?

(a) It’s a joint venture between Food
and Agriculture  Organisation
(FAO) and Government of India to
promote organic farming

(b)

It’s the name given to the lightest
surveillance aircraft developed by
DRDO

(c) It’s a centrally sponsored flagship

Programme of the Ministry of
Women and Child Development,
Government of India

(d)

It's an indigenously developed
road construction technology at
high altitudes

Which of the following statements
about ‘C-Bot” is/are correct ?

1. It’s an underwater vehicle to
monitor coral reefs

2. It has been developed by CSIR
and NIO

Select the answer using the code given
below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — AEBC-A-GAT



123.

124.

e SgaaT vd fawe e (DRDO)
T TH I, WA & N A AT
WA (GTRE) 4 Th Q-5
fasfa fFar 2 ot @wE: wRa @
wA-s WefER § sk
FATE | 36 9 & AW 1§ ?

(a) M

(b) FHT
(¢) F=m
(d) =&

@y woa omde & feafafea
afeat /swpafmt & @ R
sawrdia weNl @1 arifagel wwEE
o, Wadd R AEa AfeRt H@
AW wGW, T9T @iidE R awiiE
frpre it agrar S & fou Aew wifa
WehR & et fman w2

(a) Tomft #1dt

(b) o0 oo
(c) RIS =TaT
(d) ¥ R

125. ffafes & & sW-d oo

‘va g, smar : fafein few &
for aftes s gfeen’ w i s
TR § ?

(a) IETSTE (RBI)

(b), i (NITI) ST

(c) g T

(d) wr3f g g Yaemife HATRA

AEBC-A-GAT - A
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126. T e 3Fa AR Tt Se o & ga

(P) & <= wdt ¢ ® | wfafam 6 fRafa
?

(2) ¥ (P) IR e (F) % 4, g
F 4R

(b) B (F) 3R IFa & ==, g &
LI

() | (P) 3R g & o=, T F
qrr

(d) BrEE (F) W, o % 6

127.2 g (C) Fav & fog AF PGB =

A A r w2472 1A FRB
& o fawarw fear 2 7

(a) 48V
() 6V
() 12V
(d 008V

128. U B Yerd ¥ w9 G9 FaTs AR GHE

o 1 QAT dRI T gy #
A fwarR & 9Ra: (across) TEet
g # i f Softew & dafsm
forr wmar ® | wedmw sk Avfew
A § I T H AT
T ?

(a) 2:1

(b) 4:1

e) 1:2

d 1:4



123.

124.

125.

India’s Gas Turbine Research Estab-
lishment (GTRE), part of the Defence
Research and Development Organisa-
tion (DRDO) has developed an aero-
engine which will potentially make
India self-reliance in aero-engine
technology. What is the name of the
engine ?

(a) Ganga
(b) Yamuna
(c) Krishna
(d) Kaveri

Who among the following Presidents/
Vice Presidents of the United States of
America was awarded Nobel Peace
Prize for work to find peaceful
solutions to international conflicts, to
advance democracy and human rights,
and to promote economic and social
development ?

(a) Jimmy Carter

(b) Woodrow Wilson

(c) Barack Obamj

(d) Al Gore

Which among the following agencies
releases report on ‘S.A.EE. Accom-

modation : Worker Housing for Manu-
facturing Growth’ ?

(a) RBI
(b) NITI Aayog
(c) National Housing Bank

Housing and Urban Development
Corporation

126. An object is placed between infinity

and the pole (P) of a convex mirror.
The position of the image is

(a) between pole (P) and the focus
(F), behind the mirror

(b) between the focus (F) and infinity,
behind the mirror

(c) between the pole (P) and the
infinity, in front of the mirror

(d) at the focus (F), behind the mirror

2/127. The work done in moving a charge of

2 coulomb (C) from point A to point B
is 24 J. What is the potential difference
between A and B ?

(a) 48V

(b) 6V

() 12V

d) 008V

128. Iwo conducting wires of the same
material and of equal lengths and equal

37

diameters are first connected in parallel
and then in series in a circuit across the
same potential difference. The ratio of
heat produced in parallel and series
combinations is

@@ 2:1
(®) 4:1
(c) 1:2
(fi)).;#

A - AEBC-A-GAT



129.

130.

131.

132.

133.

frft et WA fme  awEd@

it (solenoid) & SR Fadhia

CE]

(a) Y BT R

(b) JB- T S R A fRwr A
Gd §, HeaT ©

(c) - ea zod RR & o &
w5 €, a5 R

(d) wfemfera & iR uaaaE Bt 2

T FR AR 3 12 m/s ® AR
45 m &t gt R fermmaea # @ s
R | FR H =R

(@) +1-6 m/s?

(b) +3-2 m/s?

(¢) —16 m/s?

(d) —0-8 m/s?

e & gdfe faas
(Universal Constant) G &1 A& (Unit)
;R

(a N

(b) m/s

(c) ST (Joule)

(d) N-m?/kg?

FEHT gHE 9@ o S @ e
¥ firan strar ® | ol oft foufa &, st
A (equal) BT &

(a) |aAT

(b) T&W

(c) Teufes oot

(d) wferst st

foelt ey & amht (), e
(A) IR FT (v) ¥ fr9 dag B

(@) f=va

b)) A=vf

AEBC-A-GAT - A
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134.

135

136.

A
© f=3
@ v=Af

U O Wi i o=Ts SHeh gaad]
AH ¥ IR T oS @ R, wafs
FEAH AT @R feam R | e &
A AR qdad ArEcH H AT T
2

{a) 3: 1

(b) 2:5

) 2:1

(d 3:2

Frafafeaa & @ a-a1, 3@ smav &

0 AE ® 7

(a) 3wt = Ay fowar S wewr

(b) Ay w2

(c) fmft fi= (body) ® maw @&
fordt e r felt W &
ST I qUrfe OISt B @

(d) feft fagw fAe@  (isolated
system)ﬁmﬂﬁﬁmila??ﬁ
fépar s waaT B

Vo g W WV g & argHed |

BIER ToRAT & A1 1 g ® 7

(a) e @1, A TR e At
wehiftfa g @

(b) o T, A T g F Al
wehiftfa et #

(c) e 3R @rer 1 Gl wHE B9 &
vt g &

(d) e @ yhiftfs =2 gar € fig
e Q1w iftren wehifoia e €



129. The magnetic field inside a long
straight solenoid-carrying current

(a)
(®)

(©)

is zero

decreases as we move towards its
end

increases as we move towards its
end

©- 1=

4
¥,

Iy v=Af

e length of a simple pendulum is
creased four times to its previous

value while the mass is doubled. What
is the ratio of the new and previous

(d) is uxﬁfopx inside the solenoid time period of the pendulum ?
130. A car has an initial velocity of 12 m/s (@ 3:1

and is brought to rest over a distance ®) 2:5

of 45 m. The acceleration of the car is A

(a) +1-6 m/s? woi! O\r"\‘@ A

(b) +3:2 m/s? [ /?, @ 3:2

24 A

(©) -1:6 m/s? L aqg syt 135 Which one of the following is NOT a

(d) -0-8 m/s? e basic property of electric charge ?
131. The universal constant of gravitation G (a) Charges can be added

has the unit

(@ N PR
(b) m/s %0
(c) Joule % R
@ I}f;mszgz i

/
@o bodies of unequal masses are
dropped from a tower. At any instant,

they have equal

(a)
()
(c)
(d)

Momentum \Y

Acceleration {* /

Potential enﬂ‘gM/

Kinetic energy

33. The frequency (f), wavelength (1) and
speed (v) of a sound wave are related

as

@ f=vd

(b)

A
C
A=vf

-

39

74
s+ (b)

il
(c)

&

Charge is conserved

Charge on a body is always an
integral multiple of an electron or
a proton charge

Charges can be created and
destroyed in an isolated system

136. What happens when the sunlight
travels through the Earth’s atmos-
phere ?

ﬁ,.

(b)

(©)

(d)

The blue colour is scattered more
compared to the red colour

The red colour is scattered more
compared to the blue colour

Both the blue and the red colours
are scattered equally

The blue colour is not scattered
but the red colour is scattered the
most

A - AEBC-A-GAT



137.

138.

139.

140.

v Tt St firg ot anifvre &9 & a1 of

w9 @ forft e vl (fluid) # gErET

ST ®, O o gerd 9w fig ) e

fean 3 @t AT ® | 3@ ww @ i

1. 99 fig & gomm™ & SR g1 §

2. 96 fig g fqenfua ot el &
WR & e BT ©

Eik S S B0 6 B e i B

R/R?

(a) &t 1

(b) &= 2

(c) 13K 2%t

(d Fq 1,982

afe wh e & TR H e Gl =g &
wa, ot saeht wieRraear feeat gnft 2
(a) ST

(b) e

(c) &HT

(d) Tm-=tar

Pl § 3 o femd TR
(dimensionless quantity) & 7

(a) wfome

®) fagfa

(¢) @r=

(@) ==

30 frem (system) H T Fed € A
AU ATH-9TE & GRAY & AT F H
fafa i B T & 2

(a) TgrsH fama (Adiabatic system)

(b) smgrsw  faw™@  (Non-adiabatic
system)

AEBC-A-GAT - A

141.

142.

(c) omaEEr  fa@@  (Equilibrium
system)

(d) srammEen fre™ (Non-equili-
brium sYslem)

7fg e grzaewEs 3K faata & way
&I A (speed) FAN: X AR Y B, @1

@@ X<VY
(b) X>VY
© X=Y
@ X=Y

ferett atferst farga wmee & wrem & aw

oo & ufvsm fun & wenfew 2t & 1 o

iR & TE = e 3 e e fag

R gadE & A feur Far el ?

(a) TR & wegq a9 ¥ efemEd
(Clockwise)

(b) TR & FEaq a9 F aEd (Anti-
clockwise)

(c) IR & TAMIR @« A glmEd
(Clockwise)

(d) TR % GAMIGR o | 9HEd (Anti-
clockwise)

143, Fr=afafes # & 97-w1 9, 9w san

# 15 wad veet @on ma ?
(a) @@

(b) el

(c) FATFETSTA

() Tfrm



137.

138.

139.

140.

When a solid body is partially or
completely immersed in a fluid, the
fluid exerts an upward force on the
body. The magnitude of the force is
equal to

1. the mass of the body

2. the weight of the displaced ﬂui'd/

by the body
Which of the above is/are correct ?

-

(a) Ionly1
(b) 2 oan)L//'

(c¢) Both 1 and 2

(d) Neither 1 nor 2

If the length of a copper wire is

increased by twice, then its resistivity
will be

(b) Halved‘/

(c) Same

(d) One-fourth [

Which one of tile following is dimen-
sionless quantity ?

(a) Stress =

(b) Strain

(c) Pressure

(d) Force

A system that does NOT allow

exchange of heat with its surrounding
is called

(a) Adiabatic system _—
(b) Non-adiabatic system

41

141.

142.

(a) Doubled '. ﬂ; @ _. /7 >//2/L’

143.

(c) Equilibrium system
(d) Non-equilibrium system
If the speed of light in carbon disulfide

and vacuum is X and Y respectively,
then

(a X<Y
b X>Y
) XzY

(d) X=V

A current through a horizontal power
line flows in east to west direction.
What will be the direction of magnetic
field at a point directly below it when
viewed from east end ?

(a) Clockwise in a plane perpen-
dicular to the wire

(b) Anti-clockwise in a plane perpen-
dicular to the wire

(c) Clockwise in a plane of parallel
to the wire

(d) Anti-clockwise in a plane of
parallel to the wire

Which one among the following
elements is known to be discovered
the earliest ?

(a) Copper

—

(b) Gold
(c) Oxygen

(d) Uranium

A — AEBC-A-GAT



144, 519 ey At fomor arg & i1 , g ¥

AY RV G A Sl § A o
(a) e &t a3 75 smoh
(b) s & T Hg ST

(c) wiefht Xar # wafa enft

(d) fauda R Fi v wafda nft

145. fft fig (object) &t wifa & @t &,

Trrfefiaa # & -ar wfy @ g

(equations of motion) e W B2
(weirert & 3o w3l )

3= ut+%atz

(a)
(b)
(c)
()

u=v-at
w? —v2=2as
o ¥ A T A gl =

u-+3a(2n-1)

146. Frafafea # & @9-a1 w99 wd 7E

2

(a) oW1 A9 F forg Ve = aftag #
wea iy & wafora fom wmam

(b) dreear "9A & fou dieerdiex it
gftga # wea widwH # wafora
o smar 2

(c) dreedier # g=u ey gar § 3k
Uftex # wfdy @w g @

(d) dreeHreR # wfery &9 gar ® @R
tfier # 3= ufery gran @
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147,

148.

149.

150.

frafafes & ¥ S, = =
i da & 7

(a) giferam

(b) Tt |

(c) wEig Fi

(d) iFer

3fe & witkins, 5 & w&% 1 Ohm

a1 %, T g & e w2
it e R g

(a) 1 Ohm
1
(b) 3 Ohm

(¢) 3 Ohm
(d) 9 Ohm

formr wmor & & wicreafs gams S @ 2
(a) =t T 1 99 (Refraction)
(b) &t a@T %1 wWEdT (Reflection)
(c) @f gt & faads (Diffraction )
(d) @fF @ ¥ SEH FR

(Resonance)

USHEHTT AT (uniform speed) T ERUT

BT ®
(a) rftrepaw
(b) TH

(c) YA
@) fex



144. When a light ray passes through from 147. Which one of the following is a

air to water with a non-zero angle the non-conventional source of energy ?
ray will be .

(a) Petroleum
(a) bending towards the norm/al/

: (b) Natural Gas
(b) be_ndmg away from the normal
(c) propagating in straight line (€)~Tlal nosmy
(d) reflected towards the opposite (d) Coal
direction
148. If three resistors of 1 Ohm each
145. Which one of the following equations connect in parallel to each other the
related to the motion of an object is resultant resistance is P
NOT correct ? (Symbols carry their SR
usual meanings) (2) 1Ohm ™
—— \
= I '

(a) s=ut+ iatz (b) _;_ Ohm
(b) u=v-at

c) 3 Ohm
()/zﬂ —v*=2as L

(d) 9 Ohm

) Distance travelled during
: n™ second = u + %a(Zn ~-1)

149. We hear an echo due to

146. Which one of the following statements (a) Refraction of sound waves
is NOT correct ?

(b) Reflection of sound waves
(a) An ammeter is always connected

in series in the circuit to measure (c) Diffraction of sound waves
the current

g (d) Resonance due to sound waves
(b) A Voltmeter is always connected

to parallel in a circuit to measure

the voltage 150. At uniform speed the acceleration is
(c voltmeter has a high resistance (a) Maximum
" and an ammeter has a low resist-
ance (b) Minimum
(d) A voltmeter has a low resistance (c) Zero
and an ammeter has a high resist-
ance (d) Consl;ay
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